
CPGE MPSI 3 Le 14.10.2022

NOM & Prénom :

Calcul - 10 minutes

Exercice
Donner l’expression de f ′(x) pour f définie par

— x ∈ R et f1(x) = ln(x2 + 1)
— x ∈ R et f2(x) = exp(3 sin(2x)).

— x ∈ R et f3(x) = sin
2x2 − 1

2x2 + 1
— x ∈]0; +∞[ et f4(x) = sin(

√
x)

— x ∈]0,+∞[ et f5(x) =

√
x

3x+ 2

— x ∈]1,+∞[ et f6(x) =
2x2 + 3x

lnx
.

— x ∈]− 3, 3[ et f7(x) =
x√

9− x2
.

— x ∈]1,+∞[ et f8(x) = ln

(√
x+ 1

x− 1

)
— x ∈]− 1,+∞[ et f9(x) = x2 − ln(x+ 1) (sous forme factorisée)

— x ∈]0,+∞[\{e} et f10(x) =
1 + lnx

1− lnx
(sous forme factorisée)
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NOM & Prénom :

Calcul - 10 minutes

Exercice
Donner l’expression de f ′(x) pour f définie par

— x ∈ R et f1(x) = (sinx+ 2 cosx)2

— x ∈ R et f2(x) = ln(ln(x)).

— x ∈ R et f3(x) = cos
2x+ 1

x2 + 4
— x ∈]0;π[ et f4(x) =

√
sin(x)

— x ∈ [0,+∞[ et f5(x) =
x2 + 3x

2 sinx+ 3

— x ∈ R et f6(x) =
cos(2x+ 1)

x2 + 1
.

— x ∈ R∗ et f7(x) = x2 sin
1

x
.

— x ∈]0, π[ et f8(x) = ln

(√
sinx

x

)
— x ∈]1,+∞[ et f9(x) = ln(x2 + x− 2)− x+ 2

x− 1
(sous forme factorisée)

— x ∈]− 1,+∞[ et f10(x) =
x

x+ 1
+ x− 2 ln(x+ 1) (sous forme factorisée)


